
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-table-assembly
7/4/25

OES9138 3HP 1PH Table Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-table-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-table-assembly
7/4/25

Description

Index
Number

Part
Number Description Size Qty

1 OES-056 Elevation Casting  1

2 OES-057 DU Bushing 3025 4

3 OES-058 Seal 35 x 50 x 8 4

4 OES-059 Table Post  2

5 OES-060 Link  1

6 TS-1490051 Hex Cap Screw M8 x 30 2

7 OES-061 Spring  2

8 TS-1550061 Flat Washer M8 6

9 TS-1551061 Lock Washer M8 6

10 TS-1490011 Hex Cap Screw M8 x 12 2

11 TS-1491081 Hex Cap Screw M10 x 50 2

12 TS-1540071 Full Hex Nut M10 2

13 TS-1551071 Lock Washer M10 10

14 TS-2248252 Socket Head Button Screw M8 x 25 4

17 OES-062 Locking Handle  2

18 OES-063 Adjustment Plate  1

19 TS-1516021 Socket Head Flat Screw M10 x 25 2

20 OES-064 Flat Washer 10 x 25 x 6 4

22 TS-1491041 Hex Cap Screw M10 x 30 4

23 OES-065 Table Bracket, Right  1

24 OES-066 Tilt Bracket, Right  1

27 TS-2331101 Cap Nut M10 2

30 OES-067 Locking Handle  2

31 OES-068 Angle Scale  1

32 OES-069 Angle Pointer  1

33 TS-1550031 Flat Washer M5 3

34 TS-1551031 Lock Washer M5 3

35 TS-2245102 Socket Head Button Screw M5 x 10 3

36 OES-070 Table Bracket, Left  1

37 OES-071 Tilt Bracket, Left  1

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-table-assembly


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-table-assembly
7/4/25

38 OES-072 Main Table  1

39 OES-073 Washer 10 x 25 x 6 2

41 TS-149105 Hex Cap Screw M10 x 35 2

42 OES-074 Mitre Gauge & Dowel Screw  1

43 OES-075 Lock Handle  1

44 OES-076 Mitre Gauge Pointer  1

Additional Information

Stock Number 1791282-4

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-table-assembly


4 https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-table-assembly
7/4/25

Products in this set

Bushing | OES-057

Seal | OES-058

Link Model Oes9138 | OES-060

Spring Model Oes9138 | OES-061

Adjustment Plate Model Oes9138 | OES-063

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-1ph-table-assembly

